C1

It has been raining morning.

Answer:

I have known her we were in high school.
Answer:

the weather is nice, we should go for a hike.

Answer:

| haven't seen him last week.

Answer:

He has been working here six months.

Answer:

We haven't had a snowstorm years.

Answer:

it is a holiday, | am going to sleep in.

Answer:

| have been waiting for the bus 20 minutes.
Answer:

She has been studying English she was a child.
Answer:

it's stormy outside, we won't go for a walk.

Answer:




Answers

It has been raining morning.

Answer: since

I have known her we were in high school.

Answer: since

the weather is nice, we should go for a hike.

Answer: If

| haven't seen him last week.

Answer: since

He has been working here six months.
Answer: for

We haven't had a snowstorm years.
Answer: in

it is a holiday, | am going to sleep in.
Answer: Since

| have been waiting for the bus 20 minutes.
Answer: for
She has been studying English she was a child.

Answer: since

it's stormy outside, we won't go for a walk.

Answer: If



